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Duration:2 Hours Maximum Marks :60

Note: 1) Figures to right indicate marks
2) Working notes should be part of nnswer
3) All questions are compulsory.

Q.1.A firm has a current sales of Rs. 2,56,48,750. The firm has un-utilized capacity. In order to
boosts its sales it is considering the relaxation in its credit policy. The proposed terms of Cl’C(!ll
will be 60 days credit against the present policy of 45 days. As a rcsgll the bad debts 'w1Il
increase from 1.5 % to 2% of sales. The firm's sales arc expected to increase by _IO%: rhc )
variable operating costs are 72% of the sales, The firm's corporate tax rate is 35% and it requires
an after tax return of 15% on its investment. Assume 360 days in a year. Should the ﬁrm change 3
its credit period? S i (15) '
“OR
Q.1. A factory is currently working at: 50% capacity and produces 10,000 units. Prepare. a
Flexible Budget and estimate the profits of the company when it works at 60% and 80% capacity
@ and advice the company. At 60% working raw: material cost increases by 2% and selling price
falls by 2%. At 80% capacity working the raw material cost increases by 5% and selling price
falls by 5%. At 50% capacity working the product costs Rs.180 per unit and is sold at Rs.200 per

unit. EOrEF SR r : e (15)
S0 \".'-...:“ ',Cos'l','st‘rp»c‘tu'g'je __ '
Particulars; <37 <50 TG O o [iPér-unit
Material -7 @3 S [100
Labour. <7 =2 27905705 e |30 1
Factory overheads™ v ' . 711.30(40% fixed)
Administrative overheads. * - | 20(50% fixed)

o~ - e ¢
> T

Q.2. The management of P:

nagement of PLtd; sconmde‘rmgklo select a machine out of the two mutually
exclusive machines.” The- company’s -cost. of “capital .is 12% and corporate tax rate for the

company is 30%; Details of the-machines are as follows: (15)
O Machine R Rl ) € o 11
" [:Cost of the machine: "~ -~ | Rs.10,00,000 Rs.15,00,000
& T lExpected life 00 o4 o] §Vears, T 6 years
.-~ |/Annual income before tax and | Rs.3,45,000 Rs.4,55,000
¥ 570 [ depreciation 8 A M f T

Y ‘Depreciation is to be charged onstraight line basis.

Y ou are ‘reqpire‘d_ 16'i 0

i: L ~a) Calc_uila»t’é'_ the disé@té;\j;ézi pay-back period, net present value.
S ~:b) Advice the management of P Ltd. as to which machine they should take up.

) : (PV factor @ 12% i5 0.893, 0.797, 0.712, 0.636, 0.567, 0.507)
I OR
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Q.2.Prepare cash budget of a company for April, May and June 2016 by using the following -

information: . (15)
Months Sales (Rs.) Purchases(Rs.) [ Wages(Rs.) " Expenses(Rs.)
Jan 80,000 45,000 20,000 5,000

Feb 80,000 40,000 18,000 " - - 16,000

Mar 75,000 42,000 22,000 - - ] 6,000

Apr 90,000 50,000 24,000 - ..~ -16,000

May 85,000 45,000 20,000~ - [ 6,000

Jun 80,000 35,000 18,000 ~ -~ " |’5,000

You are further informed that : ol N

a)10% of the purchase and 20% of the sales are for cash :
b)The average collection period of the Company is V2 month and the credrt purchases are pard off -

regularly after one month. -

c)Wages are paid half monthly and rent of Rs. 500/- is pard monthly Pl

d)Cash and bank balance as on April 1% 2016 is: RSs.15,000/- and the company wants to keep it

on the end of every month at this ﬁgure the excess cash bemg put in f xed deposrts 5 j

o

Q3.aAfi rm s inventory plannmv pertod isone: year Its mventory requrrement for the period is
1,600 units. Assume that its order are. Rs 50 per order:The. carrymg costs are, expected to be Rel
per unit per year for an item. ; = :

The firm can produce mventones tn various' lots as follows M1, 600 umts (11)800 units, (iii) 400
units, (iv) 200 units and (v) 100-umits. ‘Which- of these order quanttues is the economic order

quantity by using (a)Table method and (b) Equatron method. =~ . (08)

b. Calculate proﬁtablltty mdex ﬁ-om the following details: 07)

Year Inflow’ (Rs ) PV-factor @ 10%

1 1,000 e ;f 0.909 -

2 K 2,0005 A ~.-[0:826 '. 3

3 = 3;000-7 7 23 051

4 Z = 4000~ > ~10.683

5 O3 5,000 Bl UH Vi PO

(Cost of the mvestment is Rs ll 000/- e 3

(15)

G 2l 000 umts
Séllmg pnce per unrt/ f Rs 40 .
"Vanable cost- per un' < RS
~ “Total cost per unit “'RsJ35
o fCredlt penod allowed . one ‘month

. The, - company proposes to increase the credit period allowed to its customers from one month to
two monlhs Itis envlsaged that the change in the policy as above will increase the sales by 8§%.

v - _The company desues to return of 25% on its investment.
BIARE ZoE dre: requrred to examine and advice whether the proposed credit policy should be

& V.r‘rmplemented or. not
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. Q.4.a. Choose the correct altemative and rewrite the statements: o Bs) (08)
. 1. The type of collateral (security) used for short term loan is SRR : ;
(real estate, plant & machinery, Stock of goods, Equity share caplml). b AL
2. Commercial paper are generally issued at a prices R )
(equal to face value, more than face value, less than face value, cqual lo rcdcmplmn vnluc) ,
3. Capital budgeting isa partof ____ QTN D Sy
(Investment decision, working capllal management, marketing lmnag mcnl cnpllal stmc(urc) :
4. The number of years taken by a project to recover the initial mvestmenl |s Callcd e -
(payback pcrlod investment period, profit period, none of thcsc) DS ORI RN
5. The minimum amount of working capital requlred to cnablc lhc concem to Opcrale at- thc <

lowest level of the activity is called - N T DE S - P L
(Gross working capital, nct working capxtal pemmnent workmg capml temporary workmg
capital) B DB SRS 5 : sl O :
6. Gross working capital means ___. .0 ol b A ks W
(Total assets, total current assets, total currcnt lmbil »

) 7. Management of all matters related 1% an: organlzallon I' nanceds ca lcd‘ o N .

b (Cash mflows and outﬂows allocatlon\ofresol\rces f’mancxal management ﬁnance)

l For availing funds from\short-tenﬁ sources' crc it ratmg of" bo erdsQ generally not required.
: 2. A firm should al\vays an'ange.theﬁmdS‘by delaymg the payment to <reditors and payables.
' 3. Net present valuc mefhod LISES. cost of. debt as g dxscountmg raté;.
; 4. Investments. thh Jongerpayback per;ods arg: ‘more desrrable all else being equal.
5. Net working capltal caqneverbe’négﬁ‘lwe 8 fj.“'" '
6. Workingcapitals refcrs L\p‘a firm s]ong term capltal N
. Planmng functlon of managemenf mvolves takmg conectnve action if needed.

Q4. Wnte shon notes ,on “any.
y J .-Prcference share capltal X

(15)

Cid

:Credlt standarﬁs\ 3

\\__

P;oducuon Budget <‘\ \'4“. /

ok ko
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